
9500057-03Printed in the U.S.A.

Installation Instructions
C-4 Deep Pan

Part Number 50281

(see www.bmracing.com for the latest vehicle fitment applications and model years)
© 2000  by B&M Racing & Performance Products

This B&M C-4 Deep Pan has been
designed to work on most Ford C-4
transmissions.  It  has been engineered
to increase capacity as well as add
rigidity to the case. Please check the
parts and tool list at the end of these
instructions before you begin the  install
of your B&M C-4 Deep Pan.
Installation can be accomplished by
anyone with minimal mechanical
experience.

INTRODUCTION

The B&M C-4 Deep Pan can be in-
stalled in an hour or two by carefully
following the instructions. Read all in-
structions first to familiarize yourself
with the parts and procedures. This kit
contains all the parts necessary to in-
stall the deep pan. NOTE: Automatic
transmissions reach temperatures
up to 250°F. Let the transmission
cool thoroughly to avoid hot oil
burns. The vehicle should be off the
ground for ease of installation. Jack
stands, wheel ramps or a hoist will
work fine.  MAKE SURE THE VE-
HICLE IS SECURELY SUPPORTED!

DISASSEMBLY

STEP 1.  Loosen and remove oil pan
bolts one at a time, working from the
rear towards the front of the transmis-
sion.  Loosen the last two bolts slowly
and allow the pan to tilt down to drain

the fluid.  1970 and later vehicles may
be equipped with a dipstick tube
mounted to the pan.  If so, loosen it and
allow the fluid to drain.  If the pan sticks
to the old gasket, pry it down to break
the seal before removing the last two
bolts.
STEP 2.  Remove (8) or (9) filter screws.
Remove and discard the filter and old
gasket.  If you have a 1970 or later
transmission, a small spring and check
valve will drop out when you remove the
filter. DO NOT LOSE THEM (Please
see Figure One).

ASSEMBLY

STEP 3. Use grease to hold check
valve and spring in place and install the
filter extension. On ‘ 67-’ 69 valve bod-
ies install washer and cover plate in
position as shown in Figure Two.
Tighten screws to 2 ft./lbs.  Install the
new filter onto filter extension using the
screws and nuts supplied.
STEP 4. Scrape old gasket off pan
surface of case to avoid oil leaks.  In-
stall pan and new gasket using bolts
and flat washers supplied. Tighten bolts
to 13 ft./lbs. maximum. Overtightening
bolts will damage gasket and result in
leaks. NOTE: Some shifter brackets
may have to be modified for clearance.
STEP 5.  On 1970 and later vehicles
you will notice a tapped hole on the right
front side of the pan.  If your dipstick
tube enters at the pan, install special

fitting and tighten securely.  If your
dipstick enters the case, install sup-
plied pipe plug into B&M cast pan.
STEP 6. Install drain plug and plug
gasket.  Lower vehicle.  Add four (4)
quarts of B&M Trick Shift or Type F
ATF.  Start engine and shift transmis-
sion through all gear positions.  Place
selector in Neutral and check fluid level.
DO NOT OVERFILL AS THIS WILL
CAUSE FOAMING AND OVERHEAT-
ING.  Check for leaks.

Figure One

Check valve

Spring

Filter

Transfer Plate

Check valve & spring location

Filter Transfer plate



Tool List

5/16" & 1/2" Socket & Ratchet
1/2" & 3/4" Wrench
Scraper
Screwdriver
Torque Wrench
Jack
Jack Stands

Parts List

 B&M Deep Pan
 Drain Plug Gasket
 Pipe Plug
 Drain Plug
 Filter Extension
 Machine Screws (3)
 Nuts (3)
 5/16-18 x1 1/4 Bolts (2)
 5/16 Flat Washers (11)
 5/16-18 x 7/8 Bolts (9)
 Male Connector
 Cover Plate
 3/4" O. D. Flat Washer

Figure Two

On '67-'69 valve bodies install washer
and cover plate in positions as shown

Washer

Cover plate



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


